REXPEE

THOE 68 1BALHHEE SAIIHET

ARAFENPRBRREHEERZES (BG2:M)
e B HEE BIEE 2R
I —fRIERREAEIRR D&
1. REBROHE
(1) EEIRR

BREEEERD [ 1,000] [ 1,000] [ 0]
BEEEZIFR 1,000 1,000 0
ZTMEE [ 1,974, 000] [ 1,960, 000] [ 14, 000]
SEXWEE 1,714,000 1, 700, 000 14, 000
EMSEXNEE 260, 000 260, 000 0
ZMEBEF [ 2,563, 000] [ 2,514,000] [ 49, 000]
ZHR MBI 693, 000 694, 000 A 1,000
ZEE TR HEERBBI R E 1,870,000 1, 820, 000 50, 000
TMRAEEF [ 102, 321, 000] [ 98,451, 000] [ 3,870,000]
ZTMRZAE 101, 264, 000 98, 351, 000 2,913, 000
ZIMHETHEFEZEE 957, 000 0 957, 000
ZMBBEHLESAETRZAE 100, 000 100, 000 0
ZWMHF [ 50, 000, 000] [ 50,000, 000] [ 0]
ZIED S EHREEE 50, 000, 000 50, 000, 000 0

FEUR £ [ 126, 000] [ 126, 000] [ 0]
ZEF R 1,000 1,000 0

FEUR £ 125, 000 125, 000 0
EEIRRE 156, 985, 000 153, 052, 000 3,933, 000

(2) BEER

EXE [154, 171, 000] [150, 245, 000] 3,926, 000]
AN 196, 000 196, 000 0

1% B =REN 3, 080, 000 3,080, 000 0
farFL 26, 689, 000 25, 857,000 832, 000

=1 150, 000 150, 000 0
REHTER 1,229,000 1,201, 000 28, 000

wEE 29, 250, 000 21,416, 000 1,834,000
BAELEE 4,605, 000 4,476, 000 129, 000
REXBE 1,453,000 1, 454, 000 A 1,000
HEME 12, 268, 000 12, 865, 000 A 597,000

PR 214,000 298, 000 A 84,000
JEOKHE 360, 000 360, 000 0

N A& 1,309, 000 986, 000 323, 000

BREE 148, 000 70, 000 18, 000

B EME 812, 000 818, 000 A 6,000
LHRELE 1, 320, 000 1, 320, 000 0
EFHH 886, 000 819, 000 67, 000
FERAMRUVERER 3, 783, 000 4,120, 000 A 337,000

RE 50, 000 50, 000 0
peAfifi=klk= 179, 000 179, 000 0
BN 5, 758, 000 5,471,000 287, 000

EitE 21,232,000 25, 859, 000 1,373,000

E LR ERER R & 1, 250, 000 1,250, 000 0

it 31,950, 000 31, 950, 000 0




A FEAPRBERLHERES (BAL:F)
# B HEE (k35S 1R

EHEE [ 2,123, 000] [ 2,135,000] [ A 12,000]

1% B AN 587, 000 587, 000 0
farFY 359, 000 353, 000 6, 000
REHRTER 32,000 30, 000 2,000
BRELE 128, 000 127, 000 1,000
REXBEE 30, 000 30, 000 0
HEME 5,000 5,000 0
SEKHE 40, 000 40, 000 0
BIEEME 33, 000 34, 000 A 1,000
EFHH 33, 000 58, 000 A 25,000
ERAMRUVEREH 50, 000 50, 000 0

Ef 145, 000 145, 000 0
BImEEE 19, 000 19, 000 0
HMRHAR 280, 000 261, 000 19, 000
bN=EiEk 238, 000 238, 000 0
XILFIR 144, 000 158, 000 A 14,000

REE A 156, 294, 000 152, 380, 000 3,914,000
LR EIBRE 691, 000 672, 000 19, 000

2. EEINMEREDER
(1) EESREE
RE SRR 0 0 0
(2) #ENER

RESNERR 0 0 0
LR ESMBRER 0 0 0

4 — AR IE R B4 EE IR R AR 691, 000 672,000 19, 000
—RERMEHREERS 31,098, 000 30, 426, 000 672, 000
—IRIEREIERRES 31,789, 000 31,098, 000 691, 000

I 5% IERREAE IR D AR

ZIEFTE 50, 000, 000 50, 000, 000 0
ZMFEDHEE 50, 000, 000 50, 000, 000 0
—RRIERREAEE~ DR EEE A 50,000,000 [ A 50,000, 000 0

2 B T IE WK BA R 1R R AR 0 0 0
HEEKRMEHRERS 50, 000, 000 50, 000, 000 0
EEERMERRES 50, 000, 000 50, 000, 000 0

I ERMEHARES 81, 789, 000 81,098, 000 691, 000




